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Ch 17 « Acids & Bases -
STATION 1—CONJUGATE ACIDS & BASES
Identify the conjugate acid-base pairs in the following equation:

HC,H;0,(aq) + H0(l) S H;0'(aq) + C:H;05 (aq)
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Ch 17 « Acids & Bases
STATION 2—pH OF ACID SOLUTIONS

Calculate the pH of a 0.150 M solution of HCL. (K = very large)
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= T ——TATION 3_EQUILIBRIA
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“The following equation s wiitién o represent elaiive concentrations n solution
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Knowing that HsS i a sronger cid than HON, re-write the following equilibrium to show which speies are
more concentrated in solution. \¥A! S (s 4 b Lickerd A
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Ch 17 « Acids & Bases

STATION 4—pH & pOH

[H] [OH-] pH POH acidic or basic?
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STATION 5—1CE BOX

A 0.0300 M solution of the weak acid, HA, has a pH of 4.25.
. Write the dissociation equation for this weak acid

- = T
HA y + HiOy) & Hallap * Alay = HA“" e

b, Caleulate the ] fora 0.0300 M solution of this weak acid. =
Use TUE  pi=¢.25 w3=15°P" s xi” B

. Calculate the K, of this weak acid.
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Ch 17 « Acids & Bases
STATION 6—LEWIS & BRONSTED-LOWRY DEFINITIONS

Conside the reaction: F” + B0 5 HE + OH- [:F:] Tl — H
F- would be a (circle all answers that apply):
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Consider th reaction: By + NIl BENH; )
BF; would be a (circle all answers that apply): [ a8 sued “‘/“plw
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"STATION 7—DIPROTIC ACIDS

Consider the diprotic acid, sulfurous acid: H;SO; Kai 2x10% K =66x10°
a ‘Write the equations for the step-wise dissociation of sulfurous aci
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STATION 8—SALT SOLUTIONS
For each solution, state whether it would be Acidic, Basic, or Neutrl,
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STATION 9—WEAK BASES
NHs is a weak base with a Ky = 1.8 x 10°

& Wit thedissociation cquton for NI i vater
Nty + H3O) =2 NHG + OH~
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4. Wit the equation for the equilibrium that exist ina soution of NH.CL.

NH* » HiPuwy = NHy + HsO"
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STATION 9—WEAK BASES
NH is  weak base witha Ky = 1.8 x 10°,

. Write the dissociation equation for NHs in water.

b, Caleulate the pH ofa 0.100 M solution of NH,

. Caloulate the K, for the conjugate acid of NHs

4. Write the equation for the equilibrium that exists in  solution of NHiC.




